

**A FURTHER GENERALIZATION OF THE CLASS OF
 POLYNOMIALS $T_n^{\alpha, k}(x, r, p)$**

By R.C. Singh Chandel

(Communicated by Professor H.M. Srivastava)

1. Introduction.

Bell polynomials [13] are defined as

$$(1.1) \quad H_n(g, h) = (-1)^n e^{-hg} D^n e^{hg}; \quad D \equiv \frac{d}{dx},$$

where h is a constant, and g is some specified function of x .

Shrivastava [17] has derived from above the polynomials defined by

$$(1.2) \quad G_n(h, g) = e^{-hg} \left(x \frac{d}{dx} \right)^n e^{hg}.$$

Recently, the author [1] has studied a class of polynomials defined by

$$(1.3) \quad T_n^{\alpha, k}(x, r, p) = x^{-\alpha} e^{px^r} \Omega_x^n \{ x^\alpha e^{-px^r} \},$$

where $\Omega_x \equiv x^k \frac{d}{dx}$. Note, however, that a slightly different class of polynomials was studied independently by Srivastava and Singhal (cf. [20], p.75, Eq. (1.3)).

In this paper, we extend our study by introducing the polynomials defined by

$$(1.4) \quad G_n(h, g, k) = e^{-hg} \Omega_x^n e^{hg},$$

where h, k are constants and g is any function of x .

For $k=0$ and $k=1$ the above polynomials reduce to the polynomials defined by (1.1) and (1.2) respectively and for $g(x) = \alpha \log x - px^r$, $h=1$ they reduce to the polynomials defined by (1.3). It may be of interest to study polynomials of type (1.4), since these polynomials may also be regarded as the generalization of Laguerre, Hermite and Bessel polynomials, Truesdell polynomials [7], Bell polynomials [13], and of the polynomials studied by Chandel [1], Chatterjea [2, 3, 4], Chak [6], Gould and Hopper [8], Singh [14], Singh and Srivastava [16], Shrivastava [17], and Srivastava and Singhal [20].

2. Operational results.

We can easily show that

$$(2.1) \quad F(\Omega_x) \{ e^{g(x)} f(x) \} = e^{g(x)} F(\Omega_x + x^k g') f(x); \quad g' \equiv Dg(x).$$

Taking $f(x)=1$ and $F(\Omega_x) = \Omega_x^n$, we get

$$(2.2) \quad G_n(h, g, k) = [\Omega_x + x^k hg']^n \cdot 1.$$

Consider

$$\begin{aligned} e^{-hg} (\Omega_x)^n \{e^{hg} f(x)\} &= e^{-hg} e^{hg} (\Omega_x + x^k hg')^n f(x) \\ &= (\Omega_x + x^k hg')^n f(x). \end{aligned}$$

For brevity, let

$$(2.3) \quad \Omega_x + x^k hg' = \mathfrak{D}.$$

Therefore

$$(2.4) \quad \mathfrak{D}^n \{f(x)\} = e^{-hg} \Omega_x^n \{e^{hg} f(x)\}.$$

Particularly, if $f(x)=1$, then we have

$$(2.5) \quad \mathfrak{D}^n \{1\} = G_n(h, g, k).$$

Also

$$(2.6) \quad \mathfrak{D} G_{n-1}(h, g, k) = G_n(h, g, k).$$

We can also prove the following result:

$$(2.7) \quad \mathfrak{D}^n \{u \cdot v\} = \sum_{m=0}^n \binom{n}{m} \Omega_x^m(u) \mathfrak{D}^{n-m}(v).$$

If $v=1$, formula (2.7) yields

$$(2.8) \quad \mathfrak{D}^n \{u\} = \sum_{m=0}^n \binom{n}{m} \mathfrak{D}^{n-m} \{1\} \Omega_x^m \{u\},$$

that is,

$$(2.9) \quad \mathfrak{D}^n = \sum_{m=0}^n \binom{n}{m} \mathfrak{D}^{n-m} \{1\} \Omega_x^m.$$

whence

$$(2.10) \quad \mathfrak{D}^n = \sum_{m=0}^n \binom{n}{m} G_{n-m}(h, g, k) \Omega_x^m.$$

Again, if we write

$$(2.11) \quad \mathfrak{D}^{n+m} = \mathfrak{D}^n \mathfrak{D}^m,$$

then

$$(2.12) \quad G_{n+m}(h, g, k) = \mathfrak{D}^m \{G_n(h, g, k)\} = \mathfrak{D}^n \{G_m(h, g, k)\}$$

Using (2.10), we have

$$(2.13) \quad G_{n+m}(h, g, k) = \sum_{j=0}^n \binom{n}{j} G_{n-j}(h, g, k) \Omega_x^j \{G_m(h, g, k)\}.$$

Now consider

$$\Omega_x^n \{G_m(h, g, k)\} = \Omega_x^n \{e^{-hg} \Omega_x^m e^{-hg}\}$$

$$\begin{aligned} &= \sum_{j=0}^n \binom{n}{j} \Omega_x^{n-j} \{e^{-hg}\} \Omega_x^{m+j} \{e^{hg}\} \\ &= \sum_{j=0}^n \binom{n}{j} G_{n-j}(-h, g, k) G_{m+j}(h, g, k). \end{aligned}$$

Thus we have

$$(2.14) \quad \Omega_x^n G_m(h, g, k) = \sum_{j=0}^n \binom{n}{j} G_{n-j}(-h, g, k) G_{m+j}(h, g, k).$$

In particular, for $m=0$, we have

$$(2.15) \quad \Omega_x^n \{1\} = \sum_{j=0}^n \binom{n}{j} G_{n-j}(-h, g, k) \mathfrak{D}^j.$$

from which we obtain the following operational result:

$$(2.16) \quad \Omega_x^n = \sum_{j=0}^n \binom{n}{j} G_{n-j}(-h, g, k) \mathfrak{D}^j.$$

We also obtain the following operational relationships:

$$(2.17) \quad {}_{\lambda}F_{\mu} \left[\begin{matrix} (a_{\lambda}) \\ (b_{\mu}) \end{matrix}; t\mathfrak{D} \right] \{G_m(h, g, k)\} = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^{\lambda} (a_j)_n t^n}{\prod_{j=1}^{\mu} (b_j)_n n!} G_{n+m}(h, g, k),$$

$$(2.18) \quad (1-t\mathfrak{D})^{-1} \{1\} = \sum_{n=0}^{\infty} G_n(h, g, k) t^n \quad |t| < 1,$$

$$(2.19) \quad (1+t\mathfrak{D})^n \{1\} = \sum_{j=0}^n \binom{n}{j} G_j(h, g, k) t^j,$$

$$(2.20) \quad L_n^{(\alpha)}(t\mathfrak{D}) \{1\} = \frac{(1+\alpha)_n}{n!} \sum_{j=0}^n \frac{(-1)^j t^j}{(1+\alpha)_j} \binom{n}{j} G_j(h, g, k)$$

and

$$(2.21) \quad (t+\mathfrak{D})^n \{1\} = \sum_{j=0}^n \binom{n}{j} G_{n-j}(h, g, k) t^j$$

Similarly, several results can be obtained as the particular cases of (2.17).

3. Generating function.

From the definition (1.4), we can readily have

$$(3.1) \quad \sum_{n=0}^{\infty} \frac{\prod_{j=1}^{\lambda} (a_j)_n t^n}{\prod_{j=1}^{\mu} (b_j)_n n!} G_n(h, g, k) = e^{-hg} {}_{\lambda}F_{\mu} \left[\begin{matrix} (a_{\lambda}) \\ (b_{\mu}) \end{matrix}; t\Omega_x \right] e^{hg}.$$

Particularly, if we let $\lambda=\mu$, $a_j=b_j$, $j=1, 2, 3, \dots, \lambda$ (or μ), it reduces to

$$(3.2) \quad \sum_{n=0}^{\infty} G_n(h, g, k) \frac{t^n}{n!} = e^{-hg} e^{t\Omega_x} \{e^{hg}\}.$$

Now using the elementary formula (cf., e.g., [20], p.76, eq. (1.12))

$$(3.3) \quad e^{t\Omega_x} \{f(x)\} = f[x\{1-(k-1)tx^{k-1}\}^{-\frac{1}{k-1}}], \quad k \neq 1,$$

we obtain the generating function

$$(3.4) \quad \exp [h\{g[x\{1-(k-1)tx^{k-1}\}^{-\frac{1}{k-1}}] - g(x)\}] = \sum_{n=0}^{\infty} G_n(h, g, k) \frac{t^n}{n!}.$$

Replacing t by $t/(k-1)x^{k-1}$, we get

$$(3.5) \quad \sum_{n=0}^{\infty} \frac{t^n}{n!(k-1)^n x^{(k-1)n}} G_n(h, g, k) = \exp [h\{g(x(1-t)^{-\frac{1}{k-1}}) - g(x)\}].$$

Again by using (2.10), we have

$$\begin{aligned} e^{t\Omega} \{f(x)\} &= \sum_{n=0}^{\infty} \frac{t^n}{n!} \sum_{m=0}^n \binom{n}{m} G_{n-m}(h, g, k) \Omega_x^m f(x) \\ &= \sum_{n=0}^{\infty} \frac{t^n}{n!} G_n(h, g, k) \sum_{m=0}^{\infty} \frac{t^m}{m!} \Omega_x^m f(x) \end{aligned}$$

Therefore,

$$(3.6) \quad e^{t\Omega} \{f(x)\} = \sum_{n=0}^{\infty} \frac{t^n}{n!} G_n(h, g, k) e^{t\Omega_x} \{f(x)\}.$$

Now using formulas (3.1) and (3.4), we establish

$$(3.7) \quad e^{t\Omega} \{f(x)\} = \exp [h\{g[x\{1-(k-1)tx^{k-1}\}^{-\frac{1}{k-1}}] - g(x)\}] \\ \times f[x\{1-(k-1)tx^{k-1}\}^{-\frac{1}{k-1}}].$$

For $f(x)=1$, the above result reduces to

$$(3.8) \quad e^{t\Omega} \{1\} = \exp [h\{g[x\{1-(k-1)tx^{k-1}\}^{-\frac{1}{k-1}}] - g(x)\}]$$

which is substantially the same as (3.4).

Again for $f(x) = G_m(h, g, k)$, we have

$$(3.9) \quad \sum_{n=0}^{\infty} \frac{t^n}{n!} G_{n+m}(h, g, k) \\ = G_m[h, g[x\{1-(k-1)tx^{k-1}\}^{-\frac{1}{k-1}}, k] \cdot \exp [h\{g[x\{1-(k-1)tx^{k-1}\}^{-\frac{1}{k-1}}] - g(x)\}].$$

Also

$$(3.10) \quad \sum_{n=0}^{\infty} \frac{t^n}{n!(k-1)^n x^{(k-1)n}} G_{n+m}(h, g, k)$$

$$= G_m [h, g(x(1-t)^{-\frac{1}{k-1}}), k] \cdot \exp [h \{g(x(1-t)^{-\frac{1}{k-1}}) - g(x)\}].$$

Using (3.5) in the above result, we further obtain

$$(3.11) \quad \sum_{n=0}^{\infty} \frac{t^n G_{n+m}(h, g, k)}{n!(k-1)^n x^{(k-1)n}} \\ = \sum_{j=0}^{\infty} \frac{t^j G_j(h, g, k)}{j!(k-1)^j x^{(k-1)j}} G_m [h, g(x(1-t)^{-\frac{1}{k-1}}), k]$$

Starting from the generating function (3.4), we can establish the following formulas:

$$(3.12) \quad G_n(h+l, g, k) = \sum_{m=0}^n \binom{n}{m} G_{n-m}(h, g, k) G_m(l, g, k),$$

$$(3.13) \quad G_n(h, g+f, k) = \sum_{m=0}^n \binom{n}{m} G_{n-m}(h, g, k) G_m(h, f, k),$$

$$(3.14) \quad G_n(h_1+h_2+h_3+\dots+h_m, g, k) = n! \sum_{n_1+n_2+\dots+n_m=n} \prod_{j=1}^m \frac{G_{n_j}(h_j, g, k)}{(n_j)!}$$

and

$$(3.15) \quad G_n(h, g_1+g_2+g_3+\dots+g_m, k) = n! \sum_{n_1+n_2+\dots+n_m=n} \prod_{j=1}^m \frac{G_{n_j}(h, g_j, k)}{(n_j)!}$$

Again by making an appeal to generating relation (3.4), we can get the following recurrence relation:

$$(3.16) \quad x^k DG_n(h, g, k) = G_{n+1}(h, g, k) - x^k h g'(x) G_n(h, g, k).$$

The above relation can also be obtained by putting $m=1$ in (2.12).

4. An extension of (2.10) and (2.16).

A combination of (2.10) and (2.16) will show that

$$(4.1) \quad \mathfrak{D}_{h, g}^n = \sum_{m=0}^n \binom{n}{m} G_{n-m}(h, g, k) \sum_{j=0}^m \binom{m}{j} G_{m-j}(-l, f, k) \mathfrak{D}_{l, f}^j$$

Again by combining (2.10) and (2.16), we can write

$$(4.2) \quad \mathfrak{D}_{h, g}^n = \sum_{m=0}^n \binom{n}{m} G_{n-m}(h, g, k) \sum_{j=0}^m \binom{m}{j} G_{m-j}(-l, g, k) \mathfrak{D}_{l, g}^j$$

and

$$(4.3) \quad \mathfrak{D}_{h, g}^n = \sum_{m=0}^n \binom{n}{m} G_{n-m}(h, g, k) \sum_{j=0}^m \binom{m}{j} G_{m-j}(-h, f, k) \mathfrak{D}_{h, f}^j \\ = \sum_{m=0}^n \binom{n}{m} G_{n-m}(h, g, k) \sum_{j=0}^m \binom{m}{j} G_{m-j}(h, -f, k) \mathfrak{D}_{h, f}^j$$

By using (3.12) and (3.13), these last two results reduce to

$$(4.4) \quad \mathfrak{D}_{h,g}^n = \sum_{j=0}^n \binom{n}{j} G_{n-j}(h-l, g, k) \mathfrak{D}_{l,g}^j.$$

and

$$(4.5) \quad \mathfrak{D}_{h,g}^n = \sum_{j=0}^n \binom{n}{j} G_{n-j}(h, g-f, k) \mathfrak{D}_{h,f}^j.$$

Particularly for $f(x)=1$, we get

$$(4.6) \quad G_n(h, g, k) = \sum_{j=0}^n \binom{n}{j} G_{n-j}(h-l, g, k) G_j(l, g, k)$$

and

$$(4.7) \quad G_n(h, g, k) = \sum_{j=0}^n \binom{n}{j} G_{n-j}(h, g-f, k) G_j(h, f, k).$$

From (4.4) and (4.5), we can also obtain

$$(4.8) \quad \mathfrak{D}_{h,g}^n - \mathfrak{D}_{l,g}^n = \sum_{j=0}^{n-1} \binom{n}{j} G_{n-j}(h-l, g, k) \mathfrak{D}_{l,g}^j$$

and

$$(4.9) \quad \mathfrak{D}_{h,g}^n - \mathfrak{D}_{h,f}^n = \sum_{j=0}^{n-1} \binom{n}{j} G_{n-j}(h, g-f, k) \mathfrak{D}_{h,f}^j$$

Recently, Lahiri [10, 11, 12] studied the generalized Hermite polynomials $H_{n,m,v}(x)$. More general sequences of polynomials have also been studied in the literature. See, for instance, Srivastava [18, 19].

Here we shall make extension of (2.10) and (2.16) to connect $G_n(h, g, k)$ with $H_{n,m,v}(x)$.

If we consider

$$x^{m+1} \frac{d}{dx} = \theta \text{ and } \theta + x^{m+1} h g' = \phi,$$

then (2.10) and (2.16) will take the following forms respectively:

$$(4.10) \quad \phi^n = \sum_{r=0}^n \binom{n}{r} G_{n-r}(h, g, m+1) \theta^r,$$

and

$$(4.11) \quad \theta^n = \sum_{r=0}^n \binom{n}{r} G_{n-r}(-h, g, m+1) \phi^r.$$

Now by making an appeal to (8.2) of Lahiri [11]

$$\left(x^{m+1} \frac{d}{dx} \right)^r \left(\frac{x^{-n} H_{n,m,v}(x)}{n!} \right) = \frac{x^{-n+rm} m^r}{(n-rm)!} H_{n-rm,m,v}(x),$$

we can get the following results from (4.10) and (4.11):

$$(4.12) \quad \phi^p \left\{ \frac{x^{-n} H_{n, m, v}(x)}{n!} \right\} \\ = \sum_{r=0}^{\min(p, \lfloor \frac{n}{m} \rfloor)} \binom{p}{r} \frac{x^{-n+rm} m^r}{(n-rm)!} H_{n-rm, m, v}(x) G_{p-r}(h, g, m+1)$$

and

$$(4.13) \quad \frac{x^{-n+rm} m^r}{(n-rm)!} H_{n-rm, m, v}(x) \\ = \sum_{j=0}^r \binom{r}{j} G_{r-j}(-h, g, m+1) \phi^j \left\{ \frac{x^{-n} H_{n, m, v}(x)}{n!} \right\}$$

also

$$(4.14) \quad \frac{x^{-n} m^r}{n!} H_{n, m, v}(x) = \sum_{j=0}^r \binom{n}{j} G_{r-j}(-h, g, m+1) \phi^j \left\{ \frac{x^{-n+rm} H_{n+rm, m, v}(x)}{(n+rm)!} \right\}$$

5. Explicit form.

The use of the relation [1, (2.8)]

$$\Omega_x^n f(z(x)) = \sum_{s=0}^n \frac{(-1)^s}{s!} \frac{d^s}{dz^s} f(z) \sum_{j=0}^s (-1)^j \binom{s}{j} z^{s-j} \Omega_x^n (z^j)$$

helps in obtaining the explicit form of these polynomials. Indeed we have

$$G_n(h, g, k) = e^{-hg} \Omega_x^n \{e^{hg}\} \\ = \sum_{s=0}^n \frac{(-1)^s h^s}{s!} \sum_{j=0}^s (-1)^j \binom{s}{j} [g(x)]^{s-j} \Omega_x^n [g(x)]^j.$$

Therefore the explicit form for $G_n(h, g, k)$ is

$$(5.1) \quad G_n(h, g, k) = \sum_{s=0}^n \frac{(-1)^s h^s}{s!} \sum_{j=0}^s (-1)^j \binom{s}{j} [g(x)]^{s-j} \Omega_x^n [g(x)]^j.$$

From (5.1) and the elementary result (cf. [20], p.76, eq. (1.10))

$$\Omega_x^n \{x^\alpha\} = x^\alpha \left(\frac{\alpha}{k-1} \right)_n \{(k-1)x^{k-1}\}^n,$$

it follows at once that $G_n(h, g, k)$ is a polynomial of degree n in $x^{\alpha+k-1}$ where α is the highest power of x in $g(x)$.

Also by virtue of (5.1), we notice that $G_n(h, g, k)$ is a polynomial of degree n in h .

6. A Wronskian for $G_n(h, g, k)$.

Lakshman Rao [9] has given a Wronskian in an attempt to prove turan's

inequality for Hermite polynomials. Chatterjea [5] and Singh [15] have given similar Wronskians for Hermite polynomials and the generalized Hermite function [8] respectively. In this section, we shall derive a Wronskian for $G_n(h, g, k)$.

THEOREM. *If*

$$(6.1) \quad \sigma_n(h, g, k) = \text{the determinant of } [G_{n+i-j}(h, g, k)], \quad 0 \leq i, j \leq m,$$

and

$$(6.2) \quad \begin{aligned} &W\{G_n(h, g, k), G_{n-1}(h, g, k), \dots, G_{n-m}(h, g, k)\} \\ &= \text{the determinant of } [\Omega_x^i G_{n-j}(h, g, k)], \quad 0 \leq i, j \leq m, \end{aligned}$$

then

$$(6.3) \quad \sigma_n(h, g, k) = W\{G_n(h, g, k), G_{n-1}(h, g, k), \dots, G_{n-m}(h, g, k)\}.$$

PROOF. Interchanging m and n in (2.13), we have

$$(6.4) \quad G_{m+n}(h, g, k) = \sum_{j=0}^m \binom{m}{j} G_{m-j}(h, g, k) \Omega_x^j G_n(h, g, k).$$

In the above result put $m=1$, and then replace in succession n by $n-1, n-2, \dots, n-m$, whereby we obtain the equivalent expressions for the constituents

$$G_{n+1}(h, g, k), G_n(h, g, k), G_{n-1}(h, g, k), \dots, G_{n-m+1}(h, g, k)$$

of the second row of $\sigma_n(h, g, k)$. We shall call these steps a "Process". Thus after first "Process", we obtain

$\sigma_n(h, g, k) =$ the determinant of the matrix (6.1) with the second row having its j th term $\Omega_x G_{n-j}(h, g, k)$. Repeating this "process" $(m-1)$ times by putting $m=2, 3, 4, \dots, m$ and solving the determinant each time, we finally get (6.3).

Acknowledgements.

I wish to express my grateful thanks to Prof. Dr. H.M. Srivastava of the University of Victoria, Canada, for his kind help during the preparation of this paper. I also wish to record my deepest and sincerest feelings of gratitude to Dr. B.B. Lal, Principal, D.V. (Post-graduate) College, Orai, U.P., for the facilities that he has provided me.

D.V. (Post-graduate) College
Orai, U.P., India.

REFERENCES

- [1] Chandel, R.C.S., *A new class of polynomials*, Indian J. Math. (To appear).
- [2] Chatterjea, S.K., *Operational formulas for certain classical polynomials*, Quart. Jour. Math. (Oxford), 14 (1963), 241—246.
- [3] Chatterjea, S.K. *A generalization of Bessel polynomials*, Mathematica, 6 (29) (1964), 19—29.
- [4] Chatterjea, S.K., *On a generalization of Laguerre polynomials*, Rend. del Seminario Matematico della Universita di Padova, 34(1964) 180—190.
- [5] Chatterjea, S.K., *A Wronskian of the Hermite polynomials*, Math. Student, 28 (1960), 61—63.
- [6] Chak, A.M. *A class of polynomials and generalization of Stirling numbers*, Duke Math. Jour., 23 (1956), 45—55.
- [7] Erdélyi, A. et al., *Higher transcendental functions*, Vol. 3, New York, 1955.
- [8] Gould, H.W. and Hopper, A.T., *Operational formulas connected with two generalizations of Hermite polynomials*. Duke Math. Jour., 29 No.1(1962), 51—64.
- [9] Lakshman Rao, S.K., *Turan's inequality for the general Laguerre and Hermite polynomials*. Math. Student, 26 (1958), 1—6.
- [10] Lahiri, M., *On a generalisation of Hermite polynomials*. Proc. Amer. Math. Soc., 27 (1971), 117—121.
- [11] Lahiri, M., *Some recurrence relations and the differential for the generalised Hermite polynomial*. J.Sci. Res., Banaras Hindu Univ., 22(1969—70), 78—83.
- [12] Lahiri M., *Integrals involving generalised Hermite polynomial and its integral representations*. Ganita, 21(1970), 69—74.
- [13] Riordan, J., *An introduction to the combinatorial analysis* (1958).
- [14] Singh R.P., *On generalized Truesdell polynomials*. Riv. Mat. Univ. Parma (2)8 (1967), 345—353.
- [15] Singh, R.P., *A short note on generalized Hermite function*. Math. Student, 34 No.1 (1966), 29—30.
- [16] Singh, R.P. and Srivastava, K.N., *A note on generalizations of Laguerre and Humbert's polynomials*. Ricerca (Napoli) (2)14 (1963), Settembre-dicembre, 11—21 : errata, ibid (2), 15(1964), Maggioagosto, 63.
- [17] Shrivastava, P.N., *On the polynomials of Truesdell type*. Publ. Inst. Math. (Beograd) Nouvelle Ser. 9 (23) (1969), 43—46.
- [18] Srivastava, H.M., *Finite summation formulas*. J. Math. Anal. Appl., 23. (1968), 453—458.
- [19] Srivastava, H.M., *On q-generating functions and certain formulas of David*